1. Which of the following tables represent the given histogram with varying base widths
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130 | 140 [ 150 | 160 | 170 | 180 | 180 | 200 | 2107

(if)

(iii)

(iv)

(v)

Height (in

cm)

——

Height (in cm)

130 - 140

140 - 160

160-170

170 - 180

180 - 210

No. of students

11

5

15

12

11

Height (in cm)

130 - 140

140 - 160

160-170

170 - 180

180 - 210

No. of students

11

3

18

12

4

Height (in cm)

130 - 140

140 - 160

160-170

170 - 180

180 - 210

No. of students

11

5

12

12

11

Height (in cm)

130 - 140

140 - 160

160-170

170 - 180

180 - 210

No. of students

11

3

15

12

4

Height (in cm)

130 - 140

140 - 160

160 -170

170 - 180

180 - 210

No. of students

11

10

15

12

11




2. Which of the following tables represent the given histogram with varying base widths

Y
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No, of planis

86 | 98

EyTen
108 | 118 | 128 | 138 [ 148 | 158 | 168 | 178 | 188 | 198 | 208 | 218 |

(if)

(iii)

(iv)

(v)

Height {in cm)

.—-9

Height (in cm)

68 - 98

98 - 138

138 - 158

158 -178

178 - 188

188 - 218

No. of plants

11

6

15

11

9

Height (in cm)

68 - 98

98 - 138

138 - 158

158 -178

178 -188

188 - 218

No. of plants

6

8

11

3

Height (in cm)

68 - 98

98 - 138

138 - 158

158 -178

178 - 188

188 - 218

No. of plants

11

11

20

11

9

Height (in cm)

68 - 98

98 - 138

138 - 158

158 -178

178 - 188

188 - 218

No. of plants

11

11

15

11

9

Height (in cm)

68 - 98

98 - 138

138 - 158

158 -178

178 - 188

188 - 218

No. of plants

6

11

11

3




3. Which of the following tables represent the given histogram with varying base widths
Y
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No. of planis
L
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58| 68| 78 | 88 | 98 | 108 | 118

Height (in cm) s——p

Height (in cm) |58 - 68 |68 - 78|78 - 98|98 - 118
No. of plants 5 14 4 7

(i)

Height (in cm) |58 - 68|68 - 78|78 - 98|98 - 118
No. of plants 5 14 8 7

(i)

Height (in cm) |58 - 68|68 - 78|78 -98|98 - 118
No. of plants 5 14 4 4

(iii)

Height (in cm) |58 - 68|68 - 78|78 -98(98 - 118
No. of plants 5 14 9 4

(iv)

Height (in cm) |58 - 68|68 - 78|78 - 98|98 - 118
No. of plants 5 16 8 7

(v)




4. Which of the following tables represent the given histogram with varying base widths
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Age (in years) s——ap
(0 Age (in years) |17 -37|37-47|47-87|87-107|107 -117|117 - 147
i
No. of students 6 15 2 5 13 2
(i) Age (in years) |17 -37|37-47 |47 -87|87-107|107 - 117|117 - 147
ii
No. of students 12 15 6 6 13 5
(i) Age (in years) |17-37|37-47|47-87|87-107 (107 -117|117 - 147
iii
No. of students 12 15 2 °) 13 5
(i) Age (in years) |17 -37|37-47|47-87|87-107|107 - 117|117 - 147
iv
No. of students 6 15 2 1 13 2
W) Age (in years) (17 -37|37-47|47-87|87-107|107 -117|117 - 147
Y,
No. of students 12 15 6 9 13 5




5. Which of the following tables represent the given histogram with varying base widths
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i3 A fHdE A 4G LA 3 i s HASVEEE A e e e A e
Age (in years) s——sp
(i Age (in years) [19-49(49-89|89-99|99-119|119-159
i
No. of students 5 1 12 4 3
(i) Age (in years) |19-49|49-89|89-99|/99-119|119-159
i
No. of students 15 10 12 7 13
(i) Age (in years) [19-49|49-89|89-99|99-119|119- 159
iii
No. of students 15 5 9 7 13
(iv) Age (in years) |19-49(49-89(89-99|99-119|119 - 159
iv
No. of students 15 5 12 7 13
W) Age (in years) [19-49(49-89/89-99|99-119|119-159
v
No. of students 5 1 10 4 3




6. Which of the following tables represent the given histogram with varying base widths
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105204300 40150 6070180 t
S5CO0re  ——a—p
(i Score 10-20(20-30/30-50|50-60|60-80
i
No. of students 13 12 2 8 6
(i) Score 10-20/20-30(30-50|50-60|60-80
i
No. of students 13 8 5 8 6
(il Score 10-20|20-30|30-50|50-60|60-80
" No. of students 13 12 5 8 6
(iv) Score 10-20/20-30(/30-50(50-60|60-80
" 'No. of students| 13 12 1 8 3
W) Score 10-20(20-30|30-50|50-60|60-80
v
No. of students 13 12 3 8 3




7. Which of the following tables represent the given histogram with varying base widths
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(0 Score 10-30(30-60|60-80|80-90
i
No. of students 13 11 15 13
(i) Score 10-30|30-60/60-80(80-90
ii
No. of students 7 4 12 13
(i) Score 10-30(30-60|60-80|80-90
iii
No. of students 13 8 15 13
(iv) Score 10-30|30-60/60-80(80-90
v No. of students 7 4 8 13
W) Score 10-30(30-60|60-80|80-90
Y,
No. of students 13 11 13 13




8. Which of the following tables represent the given histogram with varying base widths
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10 | 20 | 30| 40 | 50 | 60 | 70 | 80 | 90 [100 ||
i g g R R i R
Rainfall {in mm) s————
(0 Rainfall (in mm) |10-40|40-70|70-90|90 - 100
i
No. of days 10 12 15 13
(i) Rainfall (in mm)|10-40(40-70|70-90|90 - 100
i
No. of days 3 4 10 13
(i) Rainfall (in mm) [10-40|{40-70|70-90|90 - 100
iii
No. of days 10 16 15 13
(i) Rainfall (in mm)|10-40(40-70(70-90|90- 100
iv
No. of days 3 4 8 13
W) Rainfall (in mm) | 10-40{40-70|70-90|90-100
%
No. of days 10 12 18 13




9. Which of the following tables represent the given histogram with varying base widths
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T T T s s s s s s s s s e
Rainfall (in mm) s———a—
(0 Rainfall (in mm) |12 - 42|42 -52|52-82|82-92|92-112|112 - 142
i
No. of days 5 5 4 11 6 5
(i) Rainfall (in mm) |12 -42|42-52|52-82|82-92(92-112|112-142
i
No. of days 15 5 13 8 11 14
(i) Rainfall (in mm) (12 - 42|42 -52|52-82(82-92|92-112|112 - 142
iii
No. of days 5 5 4 13 6 5
(i) Rainfall (in mm) |12 -42|42-52(52-82|82-92|92-112(112 - 142
iv
No. of days 15 5 10 13 11 14
W) Rainfall (in mm) |12 -42|42-52|52-82|82-92|92-112|112 - 142
%
No. of days 15 5 13 13 11 14




10. Which of the following tables represent the given histogram with varying base widths
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No. of days

28 | 38 | 48 | 58 | 68 | 78 | 8B | 98

Temperature (in degree) s———»

Temperature (in degree) | 28 - 38|38 -58|58-78|78-98

i
W No. of days 5 4 9 15

Temperature (in degree) |28 - 38|38 -58|58-78|78-98

ii
(i No. of days 5 4 5 8

Temperature (in degree) |28 - 38(38-58|58-78|78-98
No. of days 5 4 10 8

(iii)

Temperature (in degree) |28 - 38|38 -58|58-78|78-98

(iv)
No. of days 5 7 4 15

Temperature (in degree) | 28 -38|38-58|58-78|78-98
No. of days 5 7 9 15

(V)




11. Which of the following tables represent the given histogram with varying base widths
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26 | 36 | 46 | 56 | 66 | 76 | 86 | 96 | 106|116 [ 126 ||
i s s s e
Temperature {in degree) s—s
(0 Temperature (in degree) |26 -46 (46 -56|56-96|96 - 106|106 - 126
i
No. of days 5 9 4 13 5
(i) Temperature (in degree) |26 - 46 |46 - 56 |56 - 96 |96 - 106|106 - 126
ii
No. of days 5 9 1 13 5
(i) Temperature (in degree) |26 - 46 (46 - 56 |56 - 96|96 - 106 | 106 - 126
iii
No. of days 10 5 14 13 9
(iv) Temperature (in degree) |26 - 46|46 -56 |56 - 96 |96 - 106 | 106 - 126
iv
No. of days 10 9 9 13 9
W) Temperature (in degree) |26 - 46|46 - 56 (|56 - 96|96 - 106|106 - 126
%
No. of days 10 9 14 13 9




12. Which of the following tables represent the given histogram with varying base widths

Y

No, of students

[

el
96 [ 106 1116 | 126 | 136 | 146|156 | 166 | 176 186 | 196 | 206 |

(if)

(iii)

(iv)

(v)

Weight {in kg) s——an

Weight (in kg) |56 -86|86-126|126- 166|166 - 196 (196 - 206
No. of students 3 2 6 5 8
Weight (in kg) |56 -86|86-126|126 - 166|166 - 196|196 - 206
No. of students 3 2 4 5 8

Weight (in kg) |56 - 86|86 -126|126-166|166 - 196|196 - 206
No. of students 10 7 18 14 8

Weight (in kg) |56 -86|86-126|126 - 166|166 - 196|196 - 206
No. of students 10 2 15 14 8
Weight (in kg) |56 -86|86-126|126- 166|166 - 196|196 - 206
No. of students 10 7 15 14 8




13. Which of the following tables represent the given histogram with varying base widths

No, of studenis
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48 | 58

B3

78

88

198+

108 1118 | 12 8____:1'38 1148 1158 |

(i)

(i)

(iii)

(iv)

(v)

Weight (in kg)

-—-9

Weight (in kg)

48 - 58

58 - 68

68 - 108

108 - 118

118 - 158

No. of students

11

14

14

13

9

Weight (in kg)

48 - 58

58 - 68

68 - 108

108 - 118

118 - 158

No. of students

11

14

13

2

Weight (in kg)

48 - 58

58 - 68

68 - 108

108 - 118

118 - 158

No. of students

11

16

14

13

9

Weight (in kg)

48 - 58

58 - 68

68 - 108

108 - 118

118 - 158

No. of students

11

14

11

13

9

Weight (in kg)

48 - 58

58 - 68

68 - 108

108 - 118

118 - 158

No. of students

11

14

13

2




14. Which of the following tables represent the given histogram with varying base widths

Y

204
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16
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No. of labourers

¥
299 | 309 | 319 | 329 | 339 | 349 | 359

(i)

(if)

(iii)

(iv)

(v)

Daily wage (in R5)  s——an
Daily wage (in Rs) (299 - 329|329 - 339|339 - 349|349 - 359
No. of labourers 3 6 10 5
Daily wage (in Rs) | 299 - 329 (329 - 339|339 - 349|349 - 359
No. of labourers 8 1 5 5
Daily wage (in Rs) | 299 - 329 329 - 339|339 - 349|349 - 359
No. of labourers 8 6 10 5
Daily wage (in Rs) | 299 - 329|329 - 339|339 - 349|349 - 359
No. of labourers 8 6 5 5
Daily wage (in Rs) | 299 - 329 (329 - 339|339 - 349 (349 - 359
No. of labourers 3 6 5 5




15. Which of the following tables represent the given histogram with varying base widths

204

Y

HAE]

16

14

LD

No. of labourers

(=]

'_211_____:'221_____2 31 |

12411251 | 261 __.'2?1__ 281 | 291 | 301 | 311

(i)

(ii)

(iii)

(iv)

(v)

Daily wage (in Rs)

—

Daily wage (in Rs)

211 - 251

251 - 261

261 - 281

281 - 311

No. of labourers

5

13

13

12

Daily wage (in Rs)

211 - 251

251 - 261

261 - 281

281 - 311

No. of labourers

5

8

16

12

Daily wage (in Rs)

211 - 251

251 - 261

261 - 281

281 - 311

No. of labourers

1

8

7

4

Daily wage (in Rs)

211 - 251

251 - 261

261 - 281

281 - 311

No. of labourers

1

8

11

4

Daily wage (in Rs)

211 - 251

251 - 261

261 - 281

281 - 311

No. of labourers

5

8

13

12




Assignment Key

1) (i) 2) (iv) 3) (ii) 4) (v) 5) (iv) 6) (iii)
7) (i) 8) (i) 9) (v) 10) (v) 11) (v) 12) (v)
13) (i) 14) (iv) 15) (v)
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